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alFead {rotaries[_i].pin2) <<
rotaries[_i].state ttable[rotariea[_i].state &
return (rotaries[_i].state & 0x30):
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vold CheckAllEncoders (void) {
for ({int i=0;i<NUMBROTARIES;i++) |
gned char result rotary procesas(i);
== DIR_CCW) {
setButton {rotaries[i] .cowchar,

if (result
Joystick.
}:
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== DIR_CW) {
setButton (rotaries[i] .cwchar,
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0 Escribe aqui para buscar

delay {50} » Joystick.setButton{rotaries[i].ccwchar,

1); delay(50); Joystick.setButton(rotaries[i].cwchar,

| digitalBRead({rotariea[_i].pinl};

|:|:|;

OH




